MA 120    Homework                                             Name: ______________________
                                                                                                                                   Lecture time: ____________
CHAPTER 5  Problem Set A

1.  SEQUENCE PATTERNS

Write the next three numbers in each sequence and briefly indicate the pattern.

a.
2, 5, 10, 17, . . .


b.
64, 32, 16, 8, 4, ...



c.
5, 10, 9, 18, 17, 34, 33, . . .


d. 1, 3, 7, 13, 21, ...




e. 2, 3, 5, 9, 17, ...




f. 1, 5, 13, 26, 45, 71, ...




g. 1, 2, 6, 24, 120, 720, . . .


2.  AIR SHOW

In order to keep the spectators out of the line of flight, the Air Force arranged the seats for an air show in a "V" shape. Kevin, who loves airplanes, arrived very early and was given the front seat. There were three seats in the second row, and those were filled very quickly. The third row had five seats, which were given to the next five people who came. The following row had seven seats; in fact, this pattern continued all the way back, each row having two more seats than the previous row. The first twenty rows were filled. How many people attended the air show?

Answer: __________________________________________________

3. RECTANGULAR DOTS

Continue this pattern (rectangular dots). How many dots are there in the thirty-fourth figure?

………. ( see text for diagram )

                             Answer: _____________________________________

5. LAST DIGIT

What is the last digit of 2 to the 57th power?

Answer: _________________________________

8. BEES

A male bee is born from an unfertilized egg, a female bee from a fertilized one. So, in other words, a male bee only has a mother, while a female bee has a mother and a father. Totally how many ancestors does a male bee have going ten generations back? (Try drawing a diagram to help organize this.)

Answer: _________________________________________________

9. PASCAL'S TRIANGLE

The triangle below (see textbook)  is called Pascal's Triangle. Find a pattern that will produce the next row. Then copy the triangle and fill in the next four rows.

Chapter 5  Problem Set B

1. GOLF MATCH

Clark, Chris, Doug, and Diana are standing on the first tee of their favorite golf course about to begin a best-ball-of-partners match. (A best-ball match pits two golfers against the other two golfers.) They are standing in a square, with two partners standing next to each other on the cart path facing the other two partners standing next to each other on the grass. This standing arrangement is typical of the begin​ning of a golf match. They shake hands and then they throw a tee in the air and let it hit the ground. Whoever it points to will tee off first. Clark is standing diagonally opposite Diana. Chris is facing the person whose name begins with the same letter as the person who will tee off first. Partners tee off one after the other. Who will tee off second?

Answer: ____________________________________________________

3. COMIC OF THE MONTH

I subscribe to the ``Comic of the Month" club. Each month I can buy any number of the 48 titles offered by the club. The first month I bought five comics for $3.07. The second month I bought two comics for $1.72. The next month I bought six of the club offerings for $3.52. In May I bought three more for a charge of $2.17. The club charges a handling fee and then a fee for each comic. How much would it have cost to buy all 48 titles at the same time?

                      Answer: _________________________________________________________

5.  ROO AND TIGGER
Roo and Tigger decided to have a race. Their race course was 100 feet up and back (200 feet total). Roo could make three jumps of 2 feet each, in the same time that Tigger could make two jumps of 1 yard each. If Tigger has to jump 3 feet each time, who won the race and by how much?

Answer: ___________________________________________________

2.  MACARONI AND CHEESE 

Orie was too excited about his new toy to sit still. He came to the lunch table, ate 1/6 of his macaroni and cheese, then left to play with something, came back, ate 1/7 of what was left, ran and played, came back, ate 1/8 of what was left, and so on. After 10 such episodes of eating and then playing, how much of his original macaroni and cheese was left? (Assume that he started with one pound of macaroni and cheese.)

                            Answer: _________________________________

Chapter 6 Problem Set A

1.  Dimes and Quarters
Annette has five more dimes than quarters. The total amount of money she has is $3.30. How many of each coin does she have? (Must show guess and check table.)

                                  Answer: ________________________________________________________

3.  Tax


The cost of a basketball was $15.54, including 7.25% sales tax. How much of that cost was the price of the basketball, and how much was the tax? (Must show guess and check table.)
                            Answer: ___________________________________________________________

6.  Checking Account


Javier received a letter from his bank recently concerning his checking account. Under his current plan, each check he writes cost 15 cents, and there is a monthly fee of $1.60. Under the proposed new plan, each check he writes will cost 12 cents, and there will be a monthly fee of $2.75. What is the minimum number of checks Javier must write monthly in order to make the new plan cost him less than the old plan would? (Must show guess and check table.)
                 Answer: ________________________________________________________________

8.  Baseball Cards


Rita has two more than three times the number of baseball cards than Ben has. If Rita gave Ben 12 of her cards, they would each then have the same number of cards. How many cards did Rita start with? (Must show guess and check table.)
               Answer: _________________________________________________________________

11.  Special numbers


Find four different positive whole numbers  w, x, y, z all less than 10, whose sum is 18 and  w3 + x3 + y3 = z3. (Must show guess and check table.)
             Answer: _____________________________________________

12. After The Football Game

A group of students went to their favorite restaurant after the football game one Friday night.  They all ordered from the menu and forgot to tell the server to give them separate checks.  The bill totaled $270, including the tip.  They decided to split the bill evenly and figured out how much each of them owed.  But then three people said they had no money.  The rest of the people had to each chip in $4.5 extra to cover the tab.  How many people were in the group? (Must show guess and check table.)
                Answer: _____________________________________________________________

15. Shopping Surprise

A shopper asked for $5 worth of apples as usual. The shopper was surprised when she received five more than the previous week. Then she noticed that the price had dropped $1 per dozen. What was the new price per dozen? (Must show guess and check table.)


Answer: _____________________________________________________________

13. Traveling to Mom's House


Joan got on her bike and went for a ride. She rode at a speed of 16 miles per hour from her house to her sister's house in another city. The two women got in a car and traveled at a speed of 60 miles per hour to their mother's house. The total distance from Joan's house to her mother's house is 403 miles, and Joan traveled for 8 hours. How far is it from Joan's house to her sister's house? (Must show guess and check table.)
              Answer: __________________________________________

Chapter 6 Problem Set B

1.   Football Scores

In how many different ways (counting the orders) can the San Diego Chargers score exactly 10 points in a football game? Points are scored as follows: A safety scores 2 points, a conversion scores 2 points, a field goal 3 points, a touch down 6 points, and a point after touch down (PAT) 1 point. However, a PAT or a 2-point conversion can only be scored after a touch down.) 


Please list all possibilities.

              Answer: There are ____________________  possible ways.

2. Animals.

Farmer Jones goes to market and buys one hundred animals at a total cost of $1000. Cow costs $50 each, sheep costs $10 each, and rabbit costs $0.50 each. And if we know that Farmer Jones buys at least one of each, how many of each kind does he buy? (Must show guess and check table.)
                  Answer: ________________________________________________________

5.  Larry Longway Again

Seymour, the census taker, came to the house of Larry Longway and asked for the ages of the three children living in the house.  Because Larry does not believe in giving information away easily, he gave Seymour the following clues.  The clues were given one at a time.  After each clue Seymour really tried to figure it out.  If he couldn't figure it out, he then asked for another clue.


Clue1:  The product of their ages is 72.


From this clue Seymour tried, but could not figure out the ages.


Clue 2:  The sum of their ages is the same as today's date.


Seymour knew what the date was, but he still could not figure out the ages.


Clue 3:  The oldest child loves to eat at Burger Jack.


From this clue, Seymour was able to figure out the ages of the children.


What date was it and what are the children's ages?

Answer: ________________________________________________________
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